
 

 

 

POLARIS SPORTSMAN WINCH MOUNT INSTRUCTIONS 

                               

 

 

 

First you will have to remove the front lower center plastic panel for the winch mount to go into the frame. 

(If your model has a bumper you will need to remove the lower bumper mount bracket.) 

 

Slide the winch mount into the center of machine and bolt up the sides to the set of front holes in the side frame panel 

as shown in the side image. Use the 5/16 x 3/4  hex bolts in these locations. 

 

The winch will bolt in with hardware provided from winch manufacturer and it will hang in mount upside down. 

Your fairlead will also mount with hardware provided by winch manufacturer. 

 

If you had a bumper it will mount now to the bottom of the winch mount using the 5/16 x 3/4  Carriage bolts. 

 

Tighten all hardware. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

QUESTIONS OR COMMENTS CALL 320-964-1616 Monday thru Thursday 7:00 to 4:30 CST                                   INST1647 

ITEM PART# QTY. DESCRIPTION

1 1647-70 1 Winch Mount

2 HDW2050 4 5/16 x 3/4 Hex Bolt

3 HDW2069 2 5/16 x 3/4 Carriage Bolt

4 HDW7058 6 5/16 Nylock Nut

Bolt Location 

Shown with bumper mounted 

Bumper mount bracket removed 


